Model of DNA Coloring WS
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1) DNA has four nitrogen bases. What are they?

2) How do the nitrogen bases pair up in the DNA molecule?

3) DNA is often described as a twisted ladder. What makes up the rungs of the ladder (what you step on)?
4) What makes up the sides of the ladder?

KEY


Use the following key to color the DNA model on the right.





Sides of ladder:


D = deoxyribose (purple)


P = phosphate (blue)


** These alternate every other one





Rungs of ladder are base pairs:


A = adenine (red)


T = thymine (orange)


C = cytosine (yellow)


G = guanine (green)





H = hydrogen bond (black)

















